

PRN:



2019016401036583

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra), Jogeshwari (E) - 400060

University of Mumbai

Transfer Certificate

Transfer Certificate Code:

Transfer Certificate Number: AFDKAIBKBJAIKABHHIF 2019285372



C.R. Gulta

CERTIFIED that Shri/ Kumari/ Smt. GUPTA CHIRAG RAJESH has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

 After Passing the B.M.S. Examination in the year 2021-2022, He has kept terms in the college as under:

June..... to October (.....davs) November..... to March (.....days) June..... to October (.....days) to March November..... (.....days)

- Hewould have been in the class if He had continued in this college.
- HePassed/ Failed/ ATKT at the T.Y.B.M.S. Regular Rev16 Examination held in (March/October) 2021-2022.
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- · His conduct and character are good.
- His Date of Birth in college register is 08 Jun 2002
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects:-
- He has satisfactorily carried out the practical work in Faculty of Commerce
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC.
- He belongs to Category: Open as per record.

Entered By :-

Forward with compliments to the Principal/Registrar_

Principal

Government of Maharashilage of Arts, Science and Commerciant of Maharashilage of Government College of

Checked bismail Yusuf College of Arts, Science & Commerce.

Note: Transfer Certificate code given above will be required to admit the screen in Digital College® software.

Received

C.R.Gulta 10/08/2022

Inward No. 3242 Date: 318122

To,

File No.: The Principal, Ismail Yusuf College, Of Arts, Science and Commerce, Jogeshwari (East) - 400060. Mumbai, India.

ASTINIS TO

Date: 02/08/2022

Subject: Application for College Transfer Certificate.

Respected Sir/Madam,

My name is Chirag Rajesh Gupta, my PRN Number is 2019016401036583. With due respect, I would like to state that I have completed my TYBMS from your College in June 2022.

I have no pending dues to clear and furthermore, I have cleared my dues with the library department as well.

Therefore, I request you to kindly issue me College Transfer Certificate. I will be really obliged to you.

Thanking You!

C.R. Gulta Yours Sincerely, Chirag Gupta 7039381564

Cheched 22

UNIVERSITY OF MUMBAI

Institute of Distance and Open Learning

Dr. Shankar Dayal Sharma Bhavan,

Vidyanagari, Santacruz (east), Mumbai-400098

Application for Transference Certificate from the last attended College / University Department

From:

Shri / Smt. /Kum. .

GUPTA

CHIRAG

RAJESH

LAXMI

(Surname)

(Own Name)

(Father's/Husband's Name)

(Mother's Name)

Residential address of

001, Shivshakti SHREE SWAMI SAMARTHA SRA NATWAR NAGAR ROAD NO 1 JOGESHWARI EAST , 0,

College Code: 279

the student:

Andheri, Mumbai Suburban, MUMBAI, Maharashtra Pincode: 400060

Contact no. 7039381564

To,

The principal / head of the University Dept

(Full Name and Address of the last attended College / University Dept.): ISMAIL YUSUF COLLEGE,

JOGESHWARI STATION ROAD, JOGESHWARI EAST ,MUMBAI-400060

Sir / Madam,

I am to state that I have taken provisional admission to the M.Com. Part I CBCS class in Institute of Distance and Open Learning of the University of Mumbai on the basis of the No Objection Certificate dated Issued to me by the College / University Dept.

I attended the BACHELORS OF MANAGEMENT STUDIES (BMS) Class (Roll No. 2019016401036583) during the First/Second Terms of the Academic year 2021-2022 at your College and (passed/failed/was awarded A.T.K.T.) at the examination held by the University Dept. / College in May 2022 Examination (Seat No. 1155569)

My Date of Birth is 08/06/2002

I am enclosing the attested Xerox copy of the mark-sheets of the above mentioned examination/s.

I am to request to sent my Transference Certificate directly to the Director, Institute of Distance and Open Learning, University of Mumbai, Vidyanagari, Santacruz (East), Mumbai - 400 098 at the earliest.

Thanking You,



Verified by

Yours obediently

Date:

(Student's Signature)

Document printed on Mon Aug 01 2022 20:29:38 GMT+0530 (India Standard Time)





भारत सरकार Unique Identification Authority of India Government of India

नोंदविण्याचा क्रमांक / Enrollment No.: 2006/60085/17599

चिराग राजेश गुप्ता

Chirag Rajesh Gupta

001, Shivshakti Shree Swami Samarth SRA CHS LTD

Natwar Nagar Road No.1

Jogeshwari East

Mumbai

Jogeshwari East

Andheri Mumbai Suburban

Maharashtra 400060

7039381564

MD983127956FH



आपला आधार क्रमांक / Your Aadhaar No. :

3871 7047 6276

माझे आधार, माझी ओळख



भारत सरकार

Government of India



चिराग राजेश गुप्ता Chirag Rajesh Gupta जन्म तारीख / DOB : 08/06/2002 पुरुष / Male



3871 7047 6276

आधार, माझी ओळख



ISMAIL YUSUF COLLEGE







Student Id 1899503

PRI	I/Reg. No.	Examination Seat No.		Name of the Learner				Month & Year of Examination			
2019016401036583 21		GUPTA CHIRAG RAJESH LAXMI				REGULAR OCTOBER 2019					
Course			Course		Grade			Grade Points	CG=	SGPI=	
Code		Course Title		Credits	TH/PR	IA	OVERALL	(C)	(G)	CxG	ΣC
UBMSFSI.1	INTRODUCTION T	O FINANCIAL ACCOUNTS	n's	3.00	0	0	0	3.00	10	30.00	-
UBMSFSI.2	BUSINESS LAW		3.00	C	N.A	В	3.00	6	18.00		
UBMSFSI.3	BUSINESS STATIS	STICS	416	3.00	i c) 0	B+	3.00	7	21.00	
UBMSFSI.4	BUSINESS COMM	UNICATION I		3.00	В	8+	B+	3.00	7	21.00	7.20
UBMSFSI.5	FOUNDATION CO	URSE I		2.00	В	D	В	2.00	6	12.00	
UBMSFSI.6	FOUNDATION OF HUMAN SKILLS			3.00	A	0	A+	3.00	9	27.00	
UBMSFSI.7	BUSINESS ECONO	DMIS I	Val.	1003.00	The Carried Control of	Constant D	С	3.00	5	15.00	
emarks : S	SUCCESSFUL		The state of the s	20,00	OF	arned Credi	ts : 20.00	1		ΣCG= 144.00	SGPI= 7.20

सा विद्या या विसुवत्ये

Place : Mumbai

Date: 27/11/2019

Checked By:

Chairperson, Exam. Committee



Seal of the College

-

Principal



ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060



Student Id 1899503

GRADE CARD

PRN	PRN/Reg. No. Examination Seat No.			Name of the Learner				Month & Year of Examination			
2019016401036583 21			GUPTA CHIRAG RAJESH LAXMI				REGULAR MARCH 2020				
				Course	•	Grade		Credits	Grade Points	CG=	SGPI=
Course Code	% ,	Course Title		Credits	A TH/PR	IA	OVERALL	(C)	(G)	CxG	ΣC
UBMSFSII.1	PRINCIPLES OF N	MARKETING	1	3.00	A	Q	A+	3.00	9	27.00	
UBMSFSII.2	INDUSTRIAL LAW			3.00	A	A	А	3.00	8	24.00	
UBMSFSII.3	BUSINESS MATHEMATICS			3.00	A	0	A+	3.00	9	27.00	
UBMSFSII.4	BUSINESS COMMUNICATION - II			3.00	B+	/ c /	В	3.00	6	18.00	8.30
UBMSFSII.5	FOUNDATION CO	DURSE - II	(2000)	2.00	A	A+	А	2.00	8	16.00	
UBMSFSII.6	BUSINESS ENVIR	The state of the s	AT	3.00	J LA	O	A+	3.00	9	27.00	
UBMSFSII.7	PRINCIPLES OF I	MANAGEMENT	1000	3.00	A	A COM	A+	3.00	9	27.00	
	SUCCESSFUL			/20.00	Ea	rned Credit	s : 20.00			ΣCG= 166.00	SGPI= 8.30
SE edits Earned =	MESTER I	SEMESTER II	GPI = 8.30 C	12 · 在在10000000000000000000000000000000000	MESTER III	= Credits Ear	SEMESTER IV	SGPI =	Overall	Grade =	Δ

8

या विद्या या विसुद्धनये

Place : Mumbai

Date: 27/07/2020

Checked By:

MARANTE

Chairperson, Exam. Committee



Seal of the College

Sowarhal

Principal

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

VĄ.



ISMAIL YUSUF COLLEGE



Student Id 1899503

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

PROGRAMME	: BACHELOR OF MA	NAGEMENT STUDIES (BMS)							SEMEST	TER : III	
PRN	/Reg. No.	Examination Seat No.			Name of the L	earner_		Month & Year of Examination			
2019016401036583 20SBMS 14				GUPTA CHIRAG RAJESH LAXMI				REGULAR DECEMBER 2020			
Course	ourse		Course	**	Grade		Credits	Grade Points	CG=	SGPI=	
Code Course Title			Credits	TH/PR	IA	OVERALL	Earned (C)	(G)	CxG	ΣC	
UBMSFSIII.1	Business Planning & Entrepreneurial Management			3.00	A+	А	A+	3.00	9	27.00	
UBMSFSIII.2	Accounting for Managerial Decisions		Sma 6	3.00	0	1 9	0	3.00	10	30.00	
UBMSFSIII.3	Strategic Management		TWIN	3.00	O	Af	0	.3.00	10	30.00	
UBMSFSIII.4	Information Technology in Business Management-I			3.00	O	0	0 .	3.00	10	30.00	9.85
UBMSFSIII.5	Consumer Behaviour			3.00	0	В	0	3.00	10	30.00	
UBMSFSIII.6	Advertising			3.00	0	0	0	3.00	10	30.00	
UBMSFSIII.7	.7 Foundation Course (Environmental Management) - III 2.00				Oxe is	A+	0	2.00	10	20.00	
Remarks : S	SUCCESSFUL		The state of the s	20.00		Earned Credi	its : 20.00			ΣCG= 197.00	SGPI= 9.85
redits Earned = 2	MESTER I 20.00 SGPI = 7.2 MÉSTER V	SEMESTER II O Credits Earned = 20.00 SG SEMESTER VI	GPI = 8.30 Cre	SEI dits Earned =	MESTER III 20.00 SGPI	= 9.85 Credits E	SEMESTER IV	SGPI =	Overall	Grade =	A+



Credits Earned = ---

Place : Mumbai

Date: 28/02/2021

Scarat

Checked By:

Credits Earned = ---

Chairperson, Exam. Committee



Seal of the College

Soverhal

Principal

SGPI = ---



ISMAIL YUSUF COLLEGE





Student Id 1899503

GRADE CARD

PROGRAMME	: BACHELOR OF MA	NAGEMENT STUDIES (BMS)					SEMESTER : IV				
PRN	I/Reg. No.	Examination Seat No.		Name of the Learner				Month & Year of Examination			
2019016401036583 20SBMS 14		GU	GUPTA CHIRAG RAJESH LAXMI					REGULAR APRIL 2021			
Course	rse		Course			Credits	Grade	CG=	SGPI=		
Code Course Title		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /		
UBMSFSIV.1	Integrated Marketing Communication		3.00	B	A	В	3.00	6	18.00	155	
UBMSFSIV.2	.2 Event Marketing		3.00	Α,	A+	А	3.00	8	24.00		
UBMSFSIV.3	Information Technology in Business Management-II		3.00	0	, 4 O	0	3.00	10	30.00		
UBMSFSIV.4	Foundation Course (Ethics & Governance) - IV		2.00	0	0	0	2.00	10	20.00	8.65	
UBMSFSIV.5	Managerial Econom	ics- II	3.00	A	A+	А	3.00	8	24.00	-11-11-11-11	
UBMSFSIV.6	Business Research	Methods	3,00	0	С	A+	3.00	9	27.00		
UBMSFSIV.7	Production & Total quality Management		3.00	Natio 1	0	0	3.00	10	30.00		
Remarks : S	SUCCESSFUL		20.00	A STATE OF THE STA	Earned Cred	its : 20.00		٠	ΣCG= 173.00	SGPI= 8.65	
SEI redits Earned =	MESTER I 20.00 SGPI = 7.2	SEMESTER II Credits Earned = 20.00 SGPI = 8.	As a street of constitution in the state	EMESTER III = 20.00 SGPI	= 9.85 Credits E	SEMESTER IV arned = 20.00	SGPI = 8.65	Overall	Grade =	Δ	
SEI	MESTER V	SEMESTER VI						Overan	Grade -	^	



Credits Earned = ---

Place : Mumbai

Date: 29/04/2021

Saraf

Credits Earned = ---

Anjel du

SGPI = ---

Chairperson, Exam. Committee



Seal of the College

Sovenhal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

SGPI =

(Refer to grade table at the back)



University of Mumbai **GRADE CARD**

CCF:86:0008

Name

: GUPTA CHIRAG RAJESH LAXMI

Examination

: BACHELOR OF MANAGEMENT STUDIES (SEM-V)(CBCGS)(CHOICE BASED CREDIT, GRADING AND SEMESTER SYSTEM)

Held In

: NOVEMBER 2021

Seat Number : 4259237 (PRN:2019016401036583)



Course Code	Course Title	E MUMBAI UNIVERS E MUMBAI UNIVERS E MUMBAI UNIVERS E MUMBAI UNIVERS	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	MARKETING	F MUMBAI UNIVERS IF MUMBAI UNIVERS	TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN	ZA UNIVERSITY DA UNIVERSITY			s sunati di Vali	
46004	SERVICES	IF MUMBAI UNIVERS IF TH VIBAI UNIVERS IF MUMBAI UNIVERS	TY OF MUMBALUN TY OF MUMBALUN TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN VERSITY OF MUN	62				
	MARKETING	TH(INT)	TY OF 25 BALUS	VERSITTOF MUN VERSITTOF MUN	23				
e de la companya de La companya de la co		TH(TOTAL)	TY OF MUMBALUN TY OF 1003ALUN TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN VERSITY OF MUN	85	3	0	10	30.00
46007	E-COMMERCE &	FAUNBA UNIVERS IFTHIBAI UNIVERS IF MUMBAI UNIVERS	TY OF MUMBALUN TY OF 1 75 BALUN TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN	48				
	DIGITAL MARKETING	TH(INT)	25	10	23				
	STY OF BUMBALUNIVERSITY (SITY OF BUMBALUNIVERSITY (TH(TOTAL)	100	40 _	71	3	A+	9	27.00
DIS	SALES &	TH ^{BA}	75	30	51	C F MIRES AND ALL SIN			
	DISTRIBUTION MANAGEMENT	TH(INT)	25	-10	20	CENTRA III CENTRA III CENTRA III			
	STY OF MUREAL UNIVERSITY OF MUREAL UNIVERSITY OF	TH(TOTAL)	100	. 40	BALUN 71 BSTY SALUN 71 BSTY	3	-A+	9	27.00
46013	CUSTOMER	OF MUMBAL OF THABAL OF MUMBAL	75	30	53				3 - 135 15 3 - 136 15
TO OF WAREAUGH	RELATION MANAGEMENT	TH(INT)	25	10	ALUN16 ST	e al harak di Fulbara Di			
		TH(TOTAL)	100	40	A U 69	3	A	8	24.00
46001	LOGISTICS &	TH -	75	30	45				
	SUPPLY CHAIN MANAGEMENT	TH(INT)	25	10	20				
	E 1917) OF MUNICAL UNIVERSITY (E 1917) OF MUNICAL UNIVERSITY (TH(TOTAL)	100	40 (UI	65	4	A	8	32.0
46002	CORPORATE	THIBA UNIVERS	Y OF MUMBALU	30 Ens.	63				
	& PUBLIC	TH(INT)	Y OF MUMBALU Y OF 125 BALU S TY OF MUMBALU	VERSITY OF MUI	21				
	RELATIONS	TH(TOTAL)	Y OF 100 ALL	VERSIT 40 F NU	84	4	0	10	40.00
	GRAND TOTAL	OF MUMBALUNIVER	● 600	VERSITY OF MU	445	20			180.0

Remark: SUCCESSFUL SGPI: 9.00

Result Declared On: JANUARY 19, 2022

DIRECTOR

BOARD OF EXAMINATIONS AND EVALUATION





University of Mumbai **GRADE CARD**

CCF:86:0009

Name : GUPTA CHIRAG RAJESH LAXMI

: BACHELOR OF MANAGEMENT STUDIES (SEM-VI)(CBCGS) (CHOICE BASED CREDIT, GRADING AND SEMESTER SYSTEM) **Examination**

Held In

Seat Number : 1155569 (PRN:2019016401036583)

Course Code	Course Title	OF MUMBALUNIVERS OF MUMBALUNIVERS OF MUMBALUNIVERS OF MUMBALUNIVERS	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	MARKETING	OF MUMBALUNIVERS OF MUMBALUNIVERS	TY OF MUMBALUN TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN	PALUNIVERSITY BALUNIVERSITY				
86003	BRAND MANAGEMENT	TH	TY OF 175 BALUN	30	60 60				
	MANAGEMENT	TH(INT)	TY OF MARIE ALUN	versido - Nu	22				
	STY OF MUNICIPAL UNIVERSITY STY OF MUNICIPAL UNIVERSITY	TH(TOTAL)	100	VERST 40	82	3	0	10	30.00
86006	RETAIL MANAGEMENT	OF ALUMBAL UNIVERS OFTH MBALUNIVERS OF MUMBALUNIVERS	TY OF MUMBALUN TY OF 1 75 PBALUN TY OF MUMBALUN	VERSITY OF MUN VERSITY OF MUN VERSITY OF MUN	BALUNIVERSITY BALUN 54 ISITY BALUNIVERSITY				
	MAIVAGEMENT	TH(INT)	25	10	21				
	STY OF SUMBAL UNIVERSITY STY OF SUMBAL TRANSPORT STY OF SUMBAL TRANSPORT	TH(TOTAL)	100	40	BALUNIVERSITY BALUN 75 SITY BALUNIVERSITY	3	A+	9	27.00
86009 INTE	INTERNATIONAL MARKETING	TH	75	30	BALUN 55 SITY				
	WARKETING	TH(INT)	25	-10	3ALUN 16 1311				17 S.
	GT CENNEN UNIVERSITY SS CONNUNEAU WINDERSON	TH(TOTAL)	100	40	341 UN 71 STY	3	Α+	9	27.00
86012	MEDIA PLANNING & MANAGEMENT	TH	75	30	59				
	& WAVAGEWENT	TH(INT)	25	10	SALUNIVESTY SALUN 19 STY				
	STY OF AUMBALUNIVERSITY STY OF JAIMEAL UNIVERSITY	TH(TOTAL)	100	40	78@2	3	0	10	30.00
86001	OPERATION RESEARCH	TH	75	30	54				
	KESEARCH	TH(INT)	25	10	. 21	Special Control			
		TH(TOTAL)	100	40	75	4	A+	9	36.00
UBMSFSVI.5	PROJECT WORK	PROJ.	75	30	40				
		INT	25	VERSI 10 F MUN	12				
	THE COMMISSION OF THE STATE OF	TOTAL	100 a us	40	52	4	В	6	24.00
	GRAND TOTAL	or mulication res Distributed bounds	600	VERSITY OF MUN	433@2	20		AN SERVICE STREET	174.0

Sem. I CRED.: 20 SGPI: 7.20 Sem. IV CRED.: 20 SGPI: 8.65

Sem. II CRED.: 20 SGPI: 8.30 Sem. V CRED.: 20 SGPI: 9.00

Sem. III CRED.: 20 SGPI: 9.85 Sem. VI CRED.: 20 SGPI: 8.70

Remark: SUCCESSFUL

Result Declared On : JUNE 10, 2022

CGPI: 8.62

BOARD OF EXAMINATIONS AND EVALUATION





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 27-Jul-2022

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUJ4626731	
Category	BONAFIED NOC AND T C FEES	
FIRST NAME	CHIRAG	
MIDDLE NAME	RAJESH	
LAST NAME	GUPTA	
DATE OF BIRTH	8/6/2002	
GENDER	MALE	
CATEGORY	GENERAL	
MOBILE NO	7039381564	_
COURSE	мсом	A to
BONAFIED FEES, NOC FEES, T C FEES	100	
Transaction charge	0.00	
Total Amount (In Figures)	100.00	
Total Amount (In Words)	Rupees One Hundred Only	
Remarks	TRANSFER CERTIFICATE FEES	
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100	•
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE	









PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 05-Jul-2021

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUF1295499
Category	T.Y.B.M.S. ADMISSION FEES
FIRST NAME	CHIRAG
MIDDLE NAME	RAJESH
LAST NAME	GUPTA
MOBILE NAME	7039381564
GENDER	MALE
COURSE	BMS
CATEGORY	OPEN.
ADMISSION FROM NO	38
DATE OF BIRTH	08062002
PRN NO.	2019016401036583
TUITION FEES	10000
LIBRARY FEES	300
GYMKHANA FEES	400
OTHER FEES	250
INDUSTRIAL VISIT	500
ADMISSION PROCESSING FEES	200
UTILITY FEES	200
MAGAZINE FEES	100
IDENTITY CAR	50
GROUP INSURANCE	40 JUSUF CO.
STUDENT WELFARE	50
DEVELOPMENT FUND	500

715	12	0	24

https://www.onlinesbi.sbi/sbicollect/paymenthistory/paymenthistoryredirecturl.htm

• A	https://www.onlinesbi.sbi/sbicollect/payr	menthistory/paymenthistoryredirecturl.htm
VICE CHANCELLOR	20	
UNIVERSITY CULTURAL	30	
E CHARGES	20	
PROJECT FEES	500	
E SUVIDHA	50	
ALUMNI CHARGES	25	
DISASTER RELIEF FUND	10	
COMPUTER PRACTICAL	1000	
LABORATORY FEES	1000	
Transaction charge	0.00	
Total Amount (In Figures)	15,245.00	
Total Amount (In Words)	Rupees Fifteen Thousand Tv	vo Hundred Forty Five Only
Remarks		
Notification 1		
Notification 2		







Name: GUPTA CHIRAG RAJESH

Class: T.Y. B.M.S. Roll No.: 21TBMS12

DOB: 08/06/2002

BG:B+ve

c R Galta

Students Sign.

Sashel Principal Sign.

